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to gt»m-iai(^ tlie ateum requited fbtu operation, also, that with this 
system a gas holder, In which to store the gas, is required.

There is one serious objection tq the pressure system which is 
'not found In the other system.. 'The.-whple producer is ündy pres­
sure. IIe, then* there are any leak» between the producer and the 
engine, gas will escape. Arf^as .already been mentioned, this gaff 
is very poisonous, and may cause thç> death of va careless operator. 
The suction producer is full prpof in this respect, because the pres-

;
sure in the system is less tfiliu atmospheric. If, then, there-tiré any 
leaks in thvè system, all that can happen is that ifir will pass into

x

the system through these leaks., Wnile thts^w 11^reduce the' èfflciençy 
of the plant", *it patx do no other da tirage. The fact t^iat no boiler 
or gas hflidef is required in the. suction producer is^a. great fydnt 
In its favour, because simplicity is-the essence of good engineering,

jt especially when we are dealing with a machiné which is going to be> 
put under the care of men wljo have’no engineering* knowledge or 
skill. s ^ , -• <

It takes only a few minutes to start up a small gas producer 
plant. The Highland and Agricultural Society of Scotland made 
some tests in»Glasgow in 1905, to «certain the time required to get 
an engine and producer plant to full working load? starting with the
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The following are "the combined chemical ami heat equations of the re­
actions that take place in the gas producer :

C + H,0 = H„ + CM) 
i + Ï? = *. , !»

12 18 18 III or 1 lb. C t 1.5 11». 11,0 =188 III. H, ,
2.33 lbs. CO. Now. to separate l.fijljk. of water into H, and4) at the same 
temperature requires 11,500 B.T.IT., and 1 lb. C burned to CO gives 4.<M)0 
B.T.U. i therefore, to turn 1.5 llm. w'ater to water gas requires othtH^TyTOO
B.T.U.,>tr the burning of = 1.61 llw. of C to CO, according to-llie

equation.
<2 1 til lb. C + 2 15 lbs. 0 = 3 76 lbs CO + 7.100 B.T U. ; therefore, 

dually, by adding together equations 1 and 2 we get 2.61 lbs. C + 2.15 lbs
O 1.5 lbs. steam . 166 lb. ii + 6.09 lbs. CO. Now, the heat in a lb. H -
t!" iKM) B.T.U. ; therefore . Ifiti lb. II, - 11,44)0 B.T. U.

also. 6.09 ll»s. CO- 26,400 B.T.U.
»i 2.61 lbs. (’ give a gas with 37,800 B.T. U.

1 lb. O gives a gas with 14,500 B.T. U. the calorific value of the fuel.
> Again, 1 11>. H„ occupies ISO cu. ft.. so . 160 11*. H occupies 29 ou. ft.

1 lb. CO occupies 186 cu. ft., so 6.09 His. CO occupies 77.8 cu. ft. 
or the gas from 1 ll> carbon occupies 106.8 cu. ft. and has 14,500 11 T. C. ; 
therefore, the calorific value of our producer gas is 136 B.T.U. per cu. ft. 
In practice, 12.5 llw. coal give 1.000 B.T. U., and, with coal at SO per ton. 1,000 
cn. ft. gas costs 1.74 cents, bightinu gas from the city mains costs about 60 
cents per 1,000 eu. ft., and its calorific value is only four times as high as 
that of producer gas.
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